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Note : The paper contains three sections : A, B and C. 

Instructions are given in each section along with marks. 

SECTION - A 
Answer any two questions from this section. 2x12=24 

1. Explain the law of diminishing marginal 
returns. Also state its assumptions. 

2. Explain clearly the 'Law of Demand' with the 
help of a demand schedule and a demand curve. 

3. What are the factors of production ? Explain. 

4. What do you understand by the term 
'Capitalism' ? Explain its features. 

SECTION - B 
Answer any two questions from this section. 2x8=16 

5. Explain the factors responsible for Long Run 
Average cost curve being U-shaped. 
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6. Show how short period equilibrium of a firm under 
perfect competition would be determined. 

7. What do you understand by the term 
'Monopoly' ? Explain its characteristics. 

	

8. 	Explain the 'Marginal productivity theory of 
distribution. What are its assumptions ? Explain. 

SECTION - C 
Answer any one question from this section. 

	

9. 	Explain the following : 
(a) Lorenz Curve 	 5 
(b) Quasi Rent 	 5 

10. Distinguish between the following : 
(a) Nominal and Real rates of interest. 	 5 
(b) Money wage and real wage. 	 5 
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